Type in Question.
C11-5.0-Radicals + — X + [™9e* ™ ¥3<— Radicand| [Typein Answer.

Must be Same!

Adding and Subtracting: Like Radicals: Same radicand, same index. Add or subtract coefficients.

529 — 5.29 3.46 = 3.46 12.12 = 12.12 —4.24 = —424

2 2[5 | Cannot add/subtract unlike radicals.
Y3+ 472 =G+ VD / 25+ 45+ 1

1.71 + 1.41 =G.15D Can only add/subtract like radicals.
T 4 455 + 3T Simplify Roots

12 + VY27 + ¥18 + 5 W=Z‘@ 227_3 3 2\/@_2 )

2 2 2 - -
2V/3+333+3V2+5 = @/27\= Gi3) /18< @

179 =179 ; @ /9\ /9\ @
$ % S oF O
Cube Roots : —233-324 = 324 = 3

3.83 =3.83 3.42 =342 —6.82 = —6.84 2.88 = 2.88

Multiplying & Dividing:  Multiply Coefficients, Multiply Radicands
BxYB=33x3 V5x¥B=AEx3 33y7x2¥3=3x2Y7x3 ;V6x4a¥3=2x4V6x3
= 7 oy

3.87 = 3.87 = 2x3%2

N 2x5V3 <q0V3 ) 2V5 x V3 £2/15) 3.49 = 8.49
V5x7 17.32 = 17.32 7.75 = 7.75

13.23 = 13.23

2/E % 3B = 3/ x 5 = 5% % 5% Can only multiply/divide like indexes.

B B 382 =382 Cannot multiply/divide unlike indexes.
e Change Form, Add Exponents
Distribute :

FOIL :

~ Y VI o N P - 2
3(5+42 5+ V7)V7 2-V3)x1+3i5) (2+3)
G +3v2 DO CVT+7 D ~>2 7 (24/3)(2+3)
19.24 = 19.24  20.23 = 20.23 <2 +2V5 - 1V3 - ﬁ§> @

i 0.867 = 0.867
V6 216 106 1026
== - I3 \/2_4_2\/5_\/_5: 6 3 V24 = 2v6

3 233 2 ver _2ve o_
> V8 2v2 V2 |2 V8 =242

OR
141 =141 7.07 = 7.07 V24 _ |2 V3 il
NG 8 Simplify 1st
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C11 - 5.0 - Radicals Rationalizing/Fractions Notes

Rationalize the Denominator :

Multiply the Top & Bottom by
Conjugate of denominator.

5 5X 33 | Multiply the top Conjugate _
3 =751 73| and bottom by —~ /-{6%,‘/_6\"6,
52 Lhe root intthe 5 5 X+ {6) 2 —36) x (2 + V6)
enominator = N
= Only the Root! 2-V6  (2-V6)x(2+V6) Vé—2VE
44 2v6—-2V6—06
b 2 89 Dls.trlbutlon 4 +M6/— 6
Foil 4—-6
—
—-11.12 = -11.12 P
2 2 i/— 33 . (a+ b)(a - b)
4 _ 4  x(/5-733) i _ 51X V3 K V3 | Multiply the top
+33 GG+ xGG-3) |3 33x§/§x?{/§ and bottom by a—/abzl‘/ab/—bz
43/5 — 433 4 347 the cube root of a? — b2
=Tt _3 . the denominator
43/5 —43/3| = 2 twice. (Or three F//{
= —2 times for a fourth
—~ - root etc.)
C25-235751 - 101
Rationalize 1st Simplify (LCD)
b= Ll _128 2 V10
\/E \/§ \/Z \/’§ . + \/_O = 3.78 g + -
1><\/_ 1 xv3 \/_><1 1 xv2 \/Zx\/ﬁm N R
i B B sT XD 2 I
V5 x5 1 V5 x5
3xv2 /3x2 \/‘ V2 5 x5
3xyz ¥3xz2_ 3.W2 Vo Vo 5 VI VEO
o $ § 7 StTX5T BB
T + T = - \/ﬁ 5\/16 _ \/2 + \/35
V6 x6 5 5T T
V5

1 1
ﬁ+\/§—1=1'51
1><\/_ 1 x@5+1)
VXV WD X(BAD)
V2x2 5+1
_— —

2 X2 4

o
<I

2

1
5+\/§_1=1.51
(\/3—1)><i+ 1 xv2_
(V5-1)xv2 (/5-1)xv2
(V5 —14+v2) x (V10 +2)
(V10 —v2) x (V10 ++2)
1 3
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Jx =-5 :j:tug;(;l/tEven Vx+1=x A Root cant
. .@ equal a
Cll _ 5.0 _ Rad quS NPV'S No Solution Equal a x% Negative.
>< Negative.
Solve Equations :
T 22= ! Square xtz2=1 |—|Check Answer] | x +2 >0 Restrictions:
(m) = (1)2 Bpth JED+2=1 —2_ =2 Setunderneath
x+2=1 sll?,desk . V1=1 |HS=RHS root = 0 and
@ (Brackets) NPV's/Non-Permissible solve.
Values/Restrictions 2 2 S
2Vx+2+1=7 lsolate Vx+3=v2x+5 (2x + 3)2 x+7) 3 R(gt;?re
-1 —1 Root T3 = (VIR TE) V@x+3)2=(x+7) Both
2Vx +2 =6 Algebra (Vx+3) =(V2x +5) 2x+3=x+7 o
=3 x+3=2x+5 Sides
VX = 2 —x —x 2 — 42
2 2vVx + 2) = (6)? B 4x°+12x+9 =x° + 14x + 49
(\/x+2) = (3)? (4(x+2))=36 3=x+5 3x2 —2x —40 =0
x+2=9 > -5 =5 Bx +10)(x —4) =0
-2 =2 .@
@ 3x+10=0
Vx+3—-x—-1=0 Vx—-5—-+vx—-8=1 Vitl=+yx+1
Vx+3=x+1 LHS = RHS ——1 2
(Vx+3)" = (e + 1)? oo TvR s (et 1) =Gt 1)
x+3:(x+1)(x+1) (Vx=5)" =(Vx—8+1) x+1=@Gx+DHx+1)
3o zeoeid x-5=(Vi-8+1)(Vi—8+1) X+tl=x+VE+yx+1
0=x2+x—2 X—5=x-8+2Vx—8+1 (0)(2)??!\/}‘)2
0=(x+2)(x—1) 1=vx—8 —Aevx

0 =4x
ot 2= x—1=0 1?2 = (Vx=8) =0
=D

vVx+3=x+1 Vvx+3=x+1 x+1=20

x—5=20 x- 8 =0
V2+3=-2+41 Vit3=1+1 @
_ 2=2
1#-1 4350 Vx—-5—-+vx—-8=1 Vi+1=+x+1
fe= VO9—-5-v9-8=1 VO+1=vV0+1
1=1 0=0
=x+1
= RHS When you square both
=vVx+3 sides you potentially
— LHS creatfe an artificial
solution you may need
There is no to reject.
y involved*
x y
—4 DNE
-3 2
22
G o>
Vx+3—-x—1=0
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C11 - 5.0 - Radicals Geometry/Formula WPs

Find Length Find Perimeter of joined squares A=lw A=Iw

= [ = 2
A=42 |29 let x = short side 18 cm? 18=y 12 = x2

let y = long side 12 cm? VI8 =\y? V12 =/x2
— D D

41421::;8 P=2\/§+2\/§+2x/§+(3\/5—2\/5)+3\/7+3*/7+3\/E

.
V6 Find P & A
lzﬂ E let x = side a®+ b? =c? P =4s A=s2
V6 V6 x?+x2 =24 P=4(2V3) 4=(y12)°
42 2= D
= 226 1 = «% A= 12m>
6 \/ﬁm x< =12
x = V12
e T
Find P, and 4,
P=6V2+6\V2+6V2 A=Ilw bh a? + b2 = c?
letx=szdf 72 = x? A_7 h=1c? —a?
Ay = 72 _ 3V2(3V6) . .
| A=—7— h=\/(6\/§)—(3\/§)
h=+72-18
| h =54

A ball is shot straight down
where :

vp = [vf +19.6h

:

Find P, & A

vy = final velocity m/s
v; = initial velocity m/s
h = height m

. . m
Find v; if vy = 14.1?
and h = 5m.

Acircie = 38T m?

v = V7 +19.6h

HH

14.1 = |v? +19.6(5)

Find Cube SA. 2
Inscribed Cube in a Sphere. Diagonal of a cube 14.1)* = < 1712 + 19-6(5)>
d? = a? + b? + ¢2 SAcupe = 6x2 198.81 = v? + 98
22 = 3x? 2\2 v? =100.81
02 =§ SAcupe = 6<ﬁ> \/sz = v/100.81

4
GO
Dupe = 8mTD
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